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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 2nd Semester Examination, 2022

ECOACORO03T-EconoMIcs (CC3)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfes I 0E KNG Q"Y/VW fact FC 1
Candidates should answer in their own words AT TS ST I AET XTI N
and adhere to the word limit as practicable. e FEE |
I. Answer any five questions from the following: 2x5=10
feaferiae @-cieat =5 @ Te nies

(a) Distinguish between stock and flow variables in Economics.
ST SIS @ Sfewy verifeE #i1dy ey St

(b) What is transfer income?
VS IR FICP AT 9

(c) What is paradox of thrift?
freqirets Siefrefcaiy Sl 0 ¢

(d) Distinguish between fiat money and commodity money.
wiol-feree o @ w3y Sl ey ALy el e

(e) What are the motives of holding money as proposed by Keynes?
@R o S pifewia el [ & 9

(f) What is inflation tax?
JErFIfed T4 FICS T 9

(g) Define GDP deflator.
GDP S7PiRei1dl WAl deflator-@d FRE! 1S |

(h) When is LM-Curve horizontal?
LM G Y Se[gfs &3 2

(1) Distinguish between fiscal and monetary policy.

ey e ¢ Wi Nfea Ny Tt

2. Answer any four questions from the following: 5x4 =20

fsEke @-iet 51Ff6 2tia Ted wies

(a) Show that national saving is the sum of private saving and government saving. 5

@MANS (@ FIFIA BT & @IIFIA! HLEF 7 (E TSI 76T |
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(b) “Money supply is proportional to monetary base”. — Explain. 5
“Irefa @i Wi fofea Sgenfes” — it s
(c) What are intermediate goods? How are these dealt with by the value added 2+3

method of measuring GDP?

LS ¥ FIF I 9 o WEAGH “i@fore GDP Fa vt wredS! uam o
e

(d) What is natural rate of unemployment? How does it depend upon the rate of ‘job 2+3
loss’ and the rate of ‘job finding’ each time?

AFOT @RI 2T IS G ¢ 37 oI afel TEe o FHRTor 8 saifer
@R Tolca a5 9

(e) What are the tools of monetary policy? Discuss any two of them which can 1+4
combat the inflationary situation of our economy.

wiffeaited afeamels & & ¢ @-@E 9 b SiEsa s@ a9 ot sdamE
JarFifed AffEe aRen s 2

(f) “Cost push inflation can generate ‘stagflation’ in an economy” — Explain. 5

@ SRER RGNS JurEle frpeel e’ i FCe “NE” — i F9

3. Answer any two questions from the following: 10x2 =20
fasfeie - 7 evs Teq wies
(a) Explain the identity of national income, national output and national expenditure. 10

GIOR BIY, TSI AW 8 TSR AR SCew & 1l T

(b) In a closed economy, a fiscal policy change may not produce a multiplier effect 10
on income — Discuss.
a6 Im JLGIET THFIET ATrFAed 2R T SN T27 @diF el e
RPET0O 2N —  SACEDA ST

(c) Derive aggregate demand curve from IS-LM model. What causes aggregate 8+2
demand curve to shift?

IS-LM (&& (AeF (N5 sifgwt @t e s & & i i vifw @ag sifdees
(shift) =¥ Srad |

(d) Write notes on: (i) Liquidity trap  (ii) Investment multiplier 5+5
ERalGEH (i) SRR T (i) Rfvcne were

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.

2011 2



